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Zadatak 9. Na pravcu x + y − 3 = 0 odredi točku iz koje se dužina AB , A(−3, 1) ,
B(6,−1) vidi pod kutom od 135◦ .

Rješenje. p . . . x + y − 3 = 0

a . . . AT

b . . . BT

T(r, s)
A(−3, 1), B(6,−1)
ϕ = <)ATB = 135◦ =⇒ tg ϕ = | − 1| = 1

T ∈ p =⇒ T(r,−r + 3)

a . . . y − 1 =
−r + 3 − 1

r + 3
(x + 3) =

−r + 2
r + 3

(x + 3) =⇒ ka =
−r + 2
r + 3

b . . . y + 1 =
−r + 3 + 1

r − 6
(x − 6) =

−r + 4
r − 6

(x − 6) =⇒ kb =
−r + 4
r − 6

tg ϕ = 1∣∣∣∣∣∣∣
−r + 2
r + 3

− −r + 4
r − 6

1 +
−r + 2
r + 3

· −r + 4
r − 6

∣∣∣∣∣∣∣ = | − 1|

∣∣∣∣∣∣∣∣
(−r + 2)(r − 6) − (−r + 4)(r + 3)

(r + 3)(r − 6)
(r + 3)(r − 6) + (−r + 2)(−r + 4)

(r + 3)(r − 6)

∣∣∣∣∣∣∣∣ = 1

∣∣∣∣−r2 + 6r + 2r − 12 + r2 + 3r − 4r − 12
r2 − 6r + 3r − 18 + r2 − 4r − 2r + 8

∣∣∣∣ = 1∣∣∣∣ 7r − 24
2r2 − 9r − 10

∣∣∣∣ = 1

|7r − 24| = |2r2 − 9r − 10|
7r − 24 < 0 =⇒ r <

24
7

≈ 3.4

2r2 − 9r − 10 = 0 =⇒ (r)1 ≈ −0.9, (r)2 ≈ 5.4

x ∈ 〈−∞,−0.9〉 ∪ 〈 3.4, 5.4〉
− 7r + 24 = 2r2 − 9r − 10

2r2 − 2r − 34 = 0 / : 2

r2 − r − 17 = 0

r1,2 =
1 ±√

1 + 68
2

=
1 ±√

69
2

r1 =
1 −√

69
2

=⇒ T1

(1 −√
69

2
,

5 +
√

69
2

)

r2 =
1 +

√
69

2
=⇒ T2

(1 +
√

69
2

,
5 −√

69
2

)

x ∈ 〈−0.9, 3.4〉 ∪ 〈 5.4,∞〉
7r − 24 = 2r2 − 9r − 10

2r2 − 16r + 14 = 0 / : 2

r2 − 8r + 7 = 0

r3,4 =
8 ±√

64 − 28
2

=
8 ± 6

2

r3 =
8 − 6

2
= 1 =⇒ T3(1, 2)

r4 =
8 + 6

2
= 7 =⇒ T4(7,−4)
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Iz slike vidimo da je rješenje točka T2

(1 +
√

69
2

,
5 −√

69
2

)
ili T3(1, 2) .
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